

Procurement Division 200 E University Avenue, Rm 339 Gainesville, FL 32601

(352) 334-5021 (main)

Issue Date: 9/3/21								
INVITATION TO BID: #PWDA-220015-MS								
SW 62 nd Blvd Resurfacing								
PRE-BID MEETING: ☐ Non-Mandatory ☐ Mandatory ☐ N/A ☐ Includes Site Visit DATE: September 17, 2021 TIME: 10:00 am LOCATION: Roberta Leslie Kline Conference Room 16, City Hall, 200 East University Avenue, Gainesville, FL 32601								
QUESTION SUBMITTAL DUE DATE: September 27, 2021 at 3:00 pm								
DUE DATE FOR UPLOADING BID RESPONSE: October 4, 2021 at 3:00PM								
SUMMARY OF SCOPE OF WORK: Milling & resurfacing of roadway, construction of sidewalks, ADA ramps, bus stops, and mid- block crosswalks along SW 62nd Blvd between SW 20th Ave and Newberry Road.								
For questions relating to this bid, contact: Diane Holder or Melanie Sowers holderds@cityofgainesville.org, sowersma@cityofgainesville.org								
Bidder is not in arrears to City upon any debt, fee, tax or contract: Bidder is NOT in arrears Bidder IS in arrears								
Bidder is not a defaulter, as surety or otherwise, upon any obligation to City: Bidder is NOT in default Bidder IS in default								
Bidders who receive this bid from sources other than City of Gainesville Procurement Division or DemandStar MUST contact the Procurement Division prior to the due date to ensure any addenda are received in order to submit a responsible and responsive offer. Uploading an incomplete document may deem the offer non-responsive, causing rejection.								
ADDENDA ACKNOWLEDGMENT: Prior to submitting my offer, I have verified that all addenda issued to date are considered as part of my offer: Addenda received (list all) #_1 & 2								
Legal Name of Bidder: V.E. Whitehurst & Sons ,Inc.								
DBA:same								
Authorized Representative Name/Title: William J. Whitehurst, President								
E-mail Address:dwhitehurst@vewhitehurst.com FEIN: _04-3619482								
Street Address: 20551 NE 75th ST, Williston, FL 32696								
Mailing Address (if different): _same as above								
Telephone: (352) 528-2101 Fax: (352) 528-3857								
By signing this form, I acknowledge I have read and understand, and my business complies with all General Conditions and requirements set forth herein; and,								
Bid is in full compliance with the Specifications.								
Bid is in full compliance with specifications except as specifically stated and attached hereto.								
SIGNATURE OF AUTHORIZED REPRESENTATIVE MILE AND AUTHORIZED REPRESENTATIVE AUTHORIZED REPRESENTATIVE AUTHORIZED AUTHORIZ								
SIGNER'S PRINTED NAME: William J. Whitehurst, President DATE: 10-4-2021								

PART 4 - BID FORM

Bid # PWDA-220015-MS SW 62nd Blvd Resurfacing

Date: October 4, 2021

The bidder hereby declares that he has examined the site of the work and informed himself fully in regard to all conditions pertaining to the place where the work is to be done, and that he has examined the plans, specifications, agreement and all documents related to the above referenced solicitation for the work and comments hereto attached. The Bidder further declares that the only persons, company or parties interested in this Bid or the Agreement to be entered into, as principals, are named herein; that this Bid is made without connection with any other person, company or parties making a Bid; and it is in all respects fair and in good faith and without collusion or fraud.

The Bidder proposes and agrees, if this Bid is accepted, to contract with City of Gainesville, Florida, through the City Commission, , in the form of Agreement specified, to furnish all necessary materials, equipment, machinery, tools, apparatus, means of transportation, labor and service necessary to complete the work covered by the Bid Solicitation for: <Insert Bid Number>SW 62nd Blvd Resurfacing to furnish the prescribed Performance and Payment Bond for not less than one hundred percent (100%) of the bid price; and to furnish the required evidence of the specified insurance.

The undersigned agrees to commence work as set forth in the Notice to Proceed and to reach substantial completion within 80 Working Days from the date on which work commences with final completion within 30 calendar days thereafter.. If the Contractor fails to complete the work within the specified time, the Contractor agrees to pay the City liquated damaged in the amounts specified in the Agreement.

Attached is a list of similar projects and a list of Subcontractors as covered in the Instructions to Bidders.

The Bidder agrees to accept in full compensation for each item the prices named in the schedule incorporated herein and attached as "Bid Schedule". The Bidder understands that the quantities shown on the "Bid Schedule" are approximate only and subject to increase or decrease. Should they be increased or decreased, work will be performed at the unit price bid herein. Actual quantities will be determined upon completion of the work.

4.1 BID FORM/PAY ITEM LIST

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
1	MOBILIZATION	1	LS	\$250,483.00	\$250,483.00
2	MAINTENANCE OF TRAFFIC	1	LS	\$218,825.00	\$218,825.00
3	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	\$20,535.00	\$20,535.00
4	CLEARING & GRUBBING	1	LS	\$140,029.00	\$140,029.00
5	MOWING	50	AC	\$322.50	\$16,125.00
6	GRADING	1	LS	\$36,415.00	\$36,415.00
7	BORROW	500	CY	\$15.00	\$7,500.00
8	SUBSOIL EXCAVATION	100	CY	\$25.00	\$2,500.00
9	TYPE B STABILIZATION	6900	SY	\$9.00	\$62,100.00
10	4" LIMEROCK BASE, LBR 100	6300	SY	\$9.20	\$57,960.00
11	MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH	31,000	SY	\$1.99	\$61,690.00
12	MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH	2600	SY	\$1.76	\$4,576.00
13	SUPERPAVE ASPHALTIC CONC, TRAFFIC C, PG 76-22	3100	TN	\$103.10	\$319,610.00
14	ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-12.5, PG 76-22	3300	TN	\$103.15	\$340,395.00

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
15 CONCRETE CLASS NS, GRAVITY WALL		13	CY	\$1,073.00	\$13,949.00
16	16 INLETS, CLOSED FLUME		EA	\$6,209.00	\$6,209.00
17	MANHOLE, ADJUST, UTILITIES	5	EA	\$1,186.00	\$5,930.00
18	VALVE BOXES, ADJUST	1	EA	\$1,186.00	\$1,186.00
19	PEDESTRIAN/BICYCLE RAILING	35	LF	\$112.90	\$3,951.50
20	CONCRETE CURB & GUTTER, TYPE F	450	LF	\$47.50	\$21,375.00
21	CONCRETE CURB, TYPE D	100	LF	\$47.50	\$4,750.00
22	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	200	SY	\$50.80	\$10,160.00
23	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	375	SY	\$73.50	\$27,562.50
24	CONCRETE DITCH PAVEMENT, NON REINFORCED, 4"	4	SY	\$73.50	\$294.00
25	DETECTABLE WARNINGS (City Standard Brick)	600	SF	\$36.20	\$21,720.00
26	PERFORMANCE TURF, SOD	5425	SY	\$2.26	\$12,260.50
27	SIGNAL CABLE - NEW OR RECONSTRUCTED INTERSECTION, F&I	119	LF	\$10.55	\$1,255.45
	SIGNAL CABLE, REMOVE - OUTSIDE OF INTERSECTION	119	LF	\$4.75	\$565.25
29	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	3	AS	\$458.00	\$1,374.00
30	SIGN BEACON, F&I OVERHEAD MOUNT, ONE BEACON	2	AS	\$1,497.00	\$2,994.00

ITEM		EST			AMOUNT BID
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	(EXT TOTAL)
31	SINGLE POST SIGN, RELOCATE	7	AS	\$202.10	\$1,414.70
32	SINGLE POST SIGN, REMOVE	1	AS	\$26.90	\$26.90
33	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 12-20 SF	2	EA	\$1,989.00	\$3,978.00
34	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 31-50 SF	2	EA	\$3,032.60	\$6,065.20
35	SIGN PANEL, REMOVE, 31- 50 SF	2	EA	\$268.75	\$537.50
36	OBJECT MARKER, TYPE 2	2	EA	\$102.15	\$204.30
37	DELINEATOR, FLEX HIGH PERFORMANCE 48"	1	EA	\$96.75	\$96.75
38	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	1400	LF	\$3.76	\$5,264.00
39	THERMOPLASTIC, STANDARD, WHITE, SOLID, 18" FOR DIAGONALS AND CHEVRONS	130	LF	\$5.11	\$664.30
40	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	50	LF	\$9.95	\$497.50
41	THERMOPLASTIC, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/6-10 GAP EXTENSION, 6"	0.1	GM	\$2,956.25	\$295.63
42	THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL	9	EA	\$177.40	\$1,596.60
	THERMOPLASTIC, STANDARD, WHITE, ARROW	31	EA	\$76.90	\$2,383.90
	THERMOPLASTIC, STANDARD, YELLOW,	1425	LF	\$5.11	\$7,281.75

ITEM		EST			AMOUNT BID
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	(EXT TOTAL)
	SOLID, 18" FOR DIAGONAL OR CHEVRON				
45	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	475	LF	\$23.65	\$11,233.75
46	THERMOPLASTIC, STANDARD-OTHER	3.0	GM	\$4,730.00	\$14,190.00
47	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 8"	0.3	GM	\$10,212.50	\$3,063.75
48	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6", 10-30 SKIP OR 3-9 LANE DROP	0.5	GM	\$1,537.25	\$768.63
49	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6", 10-30 SKIP OR 3-9 LANE DROP	0.1	GM	\$1,537.25	\$153.73
50	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	3.5	GM	\$4,730.00	\$16,555.00
51	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS, WATERBLAST ONLY	100	SF	\$43.00	\$4,300.00
TOTAL	\$1,754,851.09				

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
52	MOBILIZATION	1	LS	\$16,247.00	\$16,247.00
53	MAINTENANCE OF TRAFFIC	1	LS	\$4,500.00	\$4,500.00

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
54	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	\$750.00	\$750.00
55	CLEARING & GRUBBING	1	LS	\$23,570.00	\$23,570.00
56	GRADING	1	LS	\$3,160.00	\$3,160.00
57	CONCRETE CLASS NS, GRAVITY WALL	7.0	CY	\$1,073.00	\$7,511.00
58	PEDESTRIAN/BICYCLE RAILING	59	LF	\$112.90	\$6,661.10
59	CONCRETE CURB & GUTTER, TYPE F	98	LF	\$47.50	\$4,655.00
60	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	5	SY	\$50.80	\$254.00
61	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	95	SY	\$73.50	\$6,982.50
62	DETECTABLE WARNINGS	107	SF	\$36.20	\$3,873.40
63	PERFORMANCE TURF, SOD	120	SY	\$4.30	\$516.00
64	SINGLE POST SIGN, RELOCATE	4	AS	\$203.20	\$812.80
TOTAL	BID AMOUNT (ALTERNATE 1)	\$79,492.80			

ITEM	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID
NO.					(EXT TOTAL)
65	MOBILIZATION	1	LS	\$40,460.00	\$40,460.00
66	MAINTENANCE OF TRAFFIC	1	LS	\$20,375.00	\$20,375.00
67	EROSION CONTROL	1	LS	\$1,250.00	\$1,250.00

ITEM		EST			AMOUNT BID
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	(EXT TOTAL)
68	CLEARING & GRUBBING	1	LS	\$52,257.00	\$52,257.00
69	GRADING	1	LS	\$4,560.00	\$4,560.00
70	CONCRETE CLASS NS, GRAVITY WALL	65	CY	\$1,073.00	\$69,745.00
71	INLETS, CLOSED FLUME	2	EA	\$6,209.00	\$12,418.00
72	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 15" SD	17	LF	\$85.00	\$1,445.00
73	MITERED END SECTION, OPTIONAL ROUND, 15" SD	1	EA	\$1,500.00	\$1,500.00
74	PEDESTRIAN/BICYCLE RAILING	329	LF	\$112.90	\$37,144.10
75	CONCRETE CURB & GUTTER, TYPE F	15	LF	\$47.50	\$712.50
76	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	197	SY	\$50.80	\$10,007.60
77	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	113	SY	\$73.50	\$8,305.50
78	DETECTABLE WARNINGS	123	SF	\$36.20	\$4,452.60
79	PERFORMANCE TURF, SOD	153	SY	\$4.30	\$657.90
80	RECTANGULAR RAPID FLASHING BEACON, F & IL - SOLAR POWERED, COMPLETE SIGN ASSEMBLY	6	AS	\$8,589.25	\$51,535.50
81	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	6	AS	\$457.95	\$2,747.70
	SINGLE POST SIGN, RELOCATE	1	AS	\$202.10	\$202.10
83	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK	270	LF	\$3.76	\$1,015.20

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
84	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	210	LF	\$23.65	\$4,966.50
85	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	40	LF	\$1.10	\$44.00
TOTAL	\$325,801.20				

TOTAL BID AMOUNT (BASE BID + ALTERNATE 1 + ALTERNATE 2)	\$2,160,145.09
---	----------------

List of Unit Abbreviations:

LIST	of Unit Addreviations:				
SY	Square Yards	GL	Gallons	SD	Side Drain
LS	Lump Sum	MG	Thousand Gallons	ED	Each Day
CY	Cubic Yards	GM	Gross Miles	CD	Cross Drain
EA	Each	LF	Linear Feet	AC	Acre
TN	Tons	NM	Net Miles	RCP	Reinforced Concrete Pipe
HR	Hour	AS	Assembly	PΙ	Per Intersection

Note: THE CITY RESERVES THE RIGHT TO ADD OR DELETE LOCATIONS, SERVICES, ITEMS, OR MATERIALS FROM THIS CONTRACT SHOULD IT BE IN THE BEST INTEREST OF THE CITY. THE CONTRACT PRICE MAY BE ADJUSTED UPON AGREEMENT OF THE CONTRACTOR AND THE CITY'S REPRESENTATIVE AND BASED UPON BID PRICES.

[THE REMAINDER OF THIS PAGE IS INTENTIONALLY BLANK]

DRUG-FREE WORKPLACE FORM

The undersigned bidder in accordance with Florida Statute 287.087 hereby certifies that	
V.E. Whitehurst & Sons, Inc	does:

(Name of Bidder)

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for the drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

As the person authorized to sign the statement, I certify that this bidder complies fully with the above requirements.

Bidder's Signature William J. Whitehurst, President

October 4, 2021

Date

BIDDER VERIFICATION FORM

LOCAL PREFERENCE (Check one) Local Preference requested: X YES NO
 A copy of the following documents must be included in your submission if you are requesting Local Preference: Business Tax Receipt Zoning Compliance Permit
QUALIFIED SMALL BUSINESS AND/OR SERVICE DISABLED VETERAN BUSINESS STATUS (Check one) Is your business qualified, in accordance with the City of Gainesville's Small Business Procurement Program, as a local Small Business? YES X NO
Is your business qualified, in accordance with the City of Gainesville's Small Business Procurement Program, as a local Service Disabled Veteran Business? YES X NO
REGISTERED TO DO BUSINESS IN THE STATE OF FLORIDA Is Bidder registered with Florida Department of State's, Division of Corporations, to do business in the State of Florida? YES NO (refer to Part 1, 1.5, last paragraph)
If the answer is "YES", provide a copy of SunBiz registration or SunBiz Document Number (#_P02000008282) If the answer is "NO", please state reason why:
DIVERSITY AND INCLUSION (Applies to solicitations above \$50,000) Does your company have a policy on diversity and inclusion? YES X NO
If yes, please attach a copy of the policy to your submittal.
Note: Possessing a diversity and inclusion policy will have no effect on the City's consideration of your submittal, but is simply being requested for information gathering purposes.
V.E. Whitehurst & Sons ,Inc.
Bidder's Name
William J. Whitehurst, President
Printed Name/Title of Authorized Representative
Signature of Authorized Representative Date
Organical of patriotized representative Date





BUSINESS TAX STATEMEN

TREASURY DIVISION OF THE DEPARTMENT OF FINANCE

AND ENDS SEPTEMBER 30, 2022

BUSINESS TAX NO.

TAX YEAR BEGINS OCTOBER 1, 2021

21113

btmail@cityofgainesville.org

BUSINESS NAME AND MAILING ADDRESS

8/31/2021

V. E. WHITEHURST & SONS, INC.

20551 NE 75TH ST WILLISTON, FL 32696 BUSINESS LOCATION 2330 NW 73RD PL

BUSINESS PHONE 352-373-3816

BUSINESS E-MAIL vewoffice@atlantic.net

Based on your most recent information update, the following is an estimate of your taxes due. These amounts may change if your information has changed.

CATEGORY	DESCRIPTION	TAX FEE
1001 6245 6801 9905	FICTITIOUS NAME REQUIREMENT MANUFACTURING NOT LISTED SEPARATELY COMMERCIALLY ZONED PARTIAL PAYMENT	\$0.00 \$105.00 \$0.00
	TOTAL TAX DUE ON OR BEFORE 10/1/2021	\$0.00 \$105.00

BUSINESS TAX ACCOUNT INFORMATION VERIFICATION

Before making payment, verify that the Business Location, Mailing Address, Business Phone, and Business Email above are correct. If changes need to be made, please call (352) 334-5024 or email btmail@cityofgainesville.org with the change(s) and effective date(s). Home Occupation Permit fees, if applicable, subject to change on October 2, 2019.

METHODS OF PAYMENT

- 1. PAY ONLINE AT http://www.cityofgainesville.org (CHOOSE "ONLINE SERVICES"), OR
- 2. IN PERSON OR COURIER DELIVERY AT CITY HALL, 200 E. UNIVERSITY AVE., 3RD FLOOR, GAINESVILLE, FL 32601. MON, TUES, THURS, FRI FROM 8AM-5PM & WED 9AM-5PM (DO NOT MAIL PAYMENTS TO THIS ADDRESS)
- 3. MAILING ADDRESS: PO BOX 490, STA. 47, GAINESVILLE, FL 32627. MAKE CHECKS PAYABLE TO: CITY OF GAINESVILLE

PENALTIES FOR LATE PAYMENTS (Receipt based on online payment time stamp or envelope postmark date)

Fee schedules based on receipt date: Received on or after October 2, 2021, but before November 1, 2021	Penalty \$10.50	Total due
Received on or after November 1, 2021, but before December 1, 2021	\$15.75	\$115.50 \$120.75
Received on or after December 1, 2021, but before January 1, 2022	\$21.00	\$126.00
Received on or after January 1, 2022	\$26.25	\$131.25

Payments not received on or before Thursday, March 31, 2022 will be assessed an additional STATUTORY PENALTY OF \$250. APPROVED BY FINANCE DIRECTOR THE THE FRENCH CONTROL OF THE THE PROPERTY OF THE FRENCH CONTROL O

Florida Statutes require the City to obtain certain documentation PRIOR to the issuance of a business tax receipt. Please e-mail (btdocs@cityofgainesville.org) or fax (352-393-8316) the following documentation:

- A copy of the current fictitious name registration or completed affidavit
- A copy of the current state certificate, registration or license for each licensed professional

If your business does not have current copies of the required documentation on file with the City, you will NOT receive a business tax receipt. You may pay your business tax online prior to submitting the required documents, and a business tax receipt will be e-mailed to you after the required documents are received and verified.

ALL CITY, STATE AND FEDERAL REQUIREMENTS MUST BE MET IN ORDER TO LEGALLY OPERATE A BUSINESS, PROFESSION OR OCCUPATION WITHIN THE CORPORATE LIMITS OF GAINESVILLE, FLORIDA, PAYMENT OF BUSINESS TAXES AND A RECEIPT FOR PAYMENT DO NOT IMPLY THAT A BUSINESS HAS COMPLIED WITH ANY OR ALL OTHER RELEVANT STATUTORY AND REGULATORY PROVISIONS. THE CITY OF GAINESVILLE DOES NOT REFUND BUSINESS TAXES PAID IN ERROR UNLESS THE ERROR IS A CLERICAL MISTAKE MADE BY THE CITY

If you have any questions about the Business Tax requirements or process, email btmail@cityofgainesville.org or call 352-334-5024

Thank you for doing business in the City of Gainesville!



Thank You! Your submission has been received.

Zoning Verification requests are typically processed within one business day however, some uses may require a more detailed review. Once the request has been processed you will receive an email informing you of the results of our review.

Return to the Department of Doing - Planning.

If you have any questions please call (352) 334-5023.

CITY OF GAINESVILLE

CERTIFICATION OF COMPLIANCE WITH LIVING WAGE

	e Ordinance 02066 directly involved in City of C a living wage of \$	33 as amended at providing covered fainesville for 13.75 per
hour to covered employees who receive Health Benefits f \$\frac{15.8125}{} per hour to covered employees not off undersigned employer.		
Name of Service Contractor/Subcontractor: V.E. Whitehurst	& Sons, Inc.	_
Address: 20551 NE 75th ST, Williston, FL 32696		
Phone Number: (352) 528-2101	ls .	
Name of Local Contact Person_ William J. Whitehurst		
Address: 20551 NE 75th ST, Williston, FL 32696	····	
Phone Number:_(352) 528-2101		
\$ 2,160,145.09		
(Amount of Contract)		
Signature: William J. Whitehurst	Date: 10-4-2021	-
Title · President		

CUSTOMER HISTORY

Name of Bidder: V.E. Whitehurst & Sons, Inc.	
	that your bidder has provided within the last <u>five (5) years</u> . Copy form
Customer Name: FDOT - Gainesville	
Address: 5301-A NE 39th Ave	
City, State, Zip: Gainesville, FL 32609	
Point of Contact: Frank Suarez, P.E.	Phone Number: (352) 381-4202
E-mail: frank.suarez@dot.state.fl.us	
Customer Name: Alachua County Public Works	
Address: 5620 NW 120th LN	
City, State, Zip: Gainesville, FL 32653	
Point of Contact: Ramon D. Gavarrete, PE	Phone Number: (352) 548-1214
E-mail: rgavarrete@alachuacounty.us	
Customer Name: Levy County	
Address: P.O. Box 778	Control of the contro
City, State, Zip: Bronson, FL 32621	
Point of Contact: Lee Mills, P.E	Phone Number: (352) 486-2872
E-mail: millseng@bellsouth.net	
Customer Name: FDOT - Lake City	
Address: 710 NW Lake Jeffery Road	
City, State, Zip: Lake City, FL 32055	

Customer Name: Bradford County Public Works	
Address: 945 North Temple Avenue	
City, State, Zip: Starke, FL 32091	
Point of Contact: Jason Dodds	Phone Number: (352) 278-3415
E-mail: jason_dodds@bradfordcountyfl.gov	

Phone Number: (386) 961-7030

Point of Contact: Doug Moseley, PE

E-mail: douglas.moseley@dot.state.fl.us

Form (Rev. October 2018)
Department of the Treasury
Internal Revenue Service

Request for Taxpayer Identification Number and Certification

Give Form to the requester. Do not send to the IRS.

▶ Go to www.irs.gov/FormW9 for instructions and the latest information.

	V = Whitehurst 9 Sons Inc	Thou leave this line blank.										
	V.E. Whitehurst & Sons, Inc. 2 Business name/disregarded entity name, if different from above			_								
	ror y reter for the second contract of the second retermined to the sec											
age 3.	3 Check appropriate box for federal tax classification of the person whose nam following seven boxes.	ne is entered on line 1. Che	ck only o	one	of the	ce	rtain	entitie	s, no	t ind	ividua	only to als; see
d uo s	☐ Individual/sole proprietor or ☐ C Corporation ☑ S Corporation single-member LLC	Partnership	☐ Tru	st/es	state			tions o				
pe.		Composition B-Bostnero	hin)			EX	ampi	payee	cou	e (III e	y)	
Print or type. Specific Instructions on page	Limited liability company. Enter the tax classification (C=C corporation, S= Note: Check the appropriate box in the line above for the tax classification LLC if the LLC is classified as a single-member LLC that is disregarded for another LLC that is not disregarded from the owner for U.S. federal tax pu is disregarded from the owner should check the appropriate box for the ta	n of the single-member ow om the owner unless the ov urposes. Otherwise, a single	ner. Do wher of the	he L	LC is			tion fro f any)	m F/	ATCA	repo	orting
ig.	Other (see instructions)	ix classification of its owne				(App	olies to	account	s main	tained	outside	the U.S.)
<u> </u>	5 Address (number, street, and apt. or suite no.) See instructions.		Request	er's	name	and a	addre	ess (or	otiona	al)		
0	0551 NE 75th ST											
0	6 City, state, and ZIP code											
l,	Villiston, FL 32696											
_	List account number(s) here (optional)											
Part												
Enter y	our TIN in the appropriate box. The TIN provided must match the nam	e given on line 1 to avo	id L	Soc	cial se	curity	y nu	mber	_	_	1	
	withholding. For individuals, this is generally your social security num talien, sole proprietor, or disregarded entity, see the instructions for F		ra				_		_			
entities	it is your employer identification number (EIN). If you do not have a new			\Box		┙	L]	L		
TIN, lat		Al		or Em	ployer	iden	tific	ation	numi	nor.		
	the account is in more than one name, see the instructions for line 1. To Give the Requester for guidelines on whose number to enter.	Also see vvnat Name al	na L		pioyei	Г	T	T	T	T		=
	3			0	4	- 3	3 6	6 1	9	4	8	2
Part	Certification											
	penalties of perjury, I certify that:											
1. The r	number shown on this form is my correct taxpayer identification numb	er (or I am waiting for a	numbe	r to	be is:	sued	to r	ne); a	nd			
2. I am Servi	not subject to backup withholding because: (a) I am exempt from back ce (IRS) that I am subject to backup withholding as a result of a failure nger subject to backup withholding; and	kup withholding, or (b) I	have no	ot b	een r	otifie	ed b	y the	Inter	rnal ed m	Reve	enue at I am
3. I am	a U.S. citizen or other U.S. person (defined below); and											
4. The F	ATCA code(s) entered on this form (if any) indicating that I am exempt	t from FATCA reporting	is corre	ect.								
you hav	ation instructions. You must cross out item 2 above if you have been not e failed to report all interest and dividends on your tax return. For real esta on or abandonment of secured property, cancellation of debt, contributio an interest and dividends, you are not required to sign the certification, but	ate transactions, item 2 ons to an individual retirer	does not ment am	app	oly. Fo	or mo	ortga A), ai	ige int nd ger	eres neral	t pai ly, pa	d, ayme	ents
Sign Here	Signature of U.S. person > White Markettee	Da	ate ▶	1	0 -	·	1-	2	0%	21		
Gen	eral Instructions	• Form 1099-DIV (dividends)	dends, i	incl	uding	thos	e fr	om st	ocks	or	nutu	al
Section noted.	references are to the Internal Revenue Code unless otherwise	• Form 1099-MISC (va proceeds)	arious ty	pes	s of in	com	e, p	rizes,	awa	ırds,	or g	ross
related 1	developments. For the latest information about developments of Form W-9 and its instructions, such as legislation enacted	 Form 1099-B (stock transactions by broke 		ual f	und s	ales	and	l certa	in o	ther		
	y were published, go to www.irs.gov/FormW9.	• Form 1099-S (proce	eds fror	m re	al est	ate t	rans	sactio	ns)			
Purp	ose of Form	• Form 1099-K (merch	nant can	d ar	nd thi	rd pa	arty	netwo	irk tr	ansa	actio	ns)
informa	idual or entity (Form W-9 requester) who is required to file an ion return with the IRS must obtain your correct taxpayer	 Form 1098 (home m 1098-T (tuition) 	ortgage	inte	erest)	, 109	8-E	(stud	ent I	oan	inter	est),
	ation number (TIN) which may be your social security number adividual taxpayer identification number (ITIN), adoption	• Form 1099-C (cance		3.5	2		- 36				323644	
taxpaye	r identification number (ATIN), or employer identification number	Form 1099-A (acquis										
(EIN), to amount	report on an information return the amount paid to you, or other reportable on an information return. Examples of information	Use Form W-9 only alien), to provide your	correct	TIN	l.							
	nclude, but are not limited to, the following. 1099-INT (interest earned or paid)	If you do not return to be subject to backup v										

later.

VEWHITE-01

SEGVSSHILTS

5,000,000

5,000,000

1,000,000

1,000,000

1,000,000

CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 10/1/2021

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed

i	f SUBROGATION IS WAIVED, subjective fields for the subjection of t	ect to	the	e terms and conditions of tificate holder in lieu of su	the po	olicy, certain	policies ma		ement. A	statement on
	ODUCER	-			CONT	Shirley	Hill Shilts			
	suredPartners, Gainesville 30 Newberry Road, Suite 180 inesville, FL 32607				PHONE (A/C, N	Elo, Ext): (352)	378-2511	FAX (A/C	, No): (352	378-9801
Gai	inesville, FL 32607				ADDRE	ss: Shirley.	Shilts@ass	uredpartners.com		
						IN	SURER(S) AFFO	RDING COVERAGE		NAIC #
					INSURI	ER A : Cincin	nati Insurai	nce Company		10677
INS	URED				INSURI	ER B : Old Re	public Insu	rance Co.		24147
	VE Whitehurst & Sons, Inc.				INSURI	ER C :				
	20551 NE 75 Street				INSUR	ER D :				
	Williston, FL 32696				INSURE	ER E :				
					INSURE	ERF:				
CO	VERAGES CEF	RTIFIC	ATI	E NUMBER:				REVISION NUMBER	R:	
IN C E	HIS IS TO CERTIFY THAT THE POLICI NDICATED. NOTWITHSTANDING ANY F ERTIFICATE MAY BE ISSUED OR MAY XCLUSIONS AND CONDITIONS OF SUCH	PERT POLIC	REM AIN, SIES.	ENT, TERM OR CONDITION , THE INSURANCE AFFORD LIMITS SHOWN MAY HAVE I	OF A	ANY CONTRA Y THE POLIC REDUCED BY	CT OR OTHER CIES DESCRIE PAID CLAIMS	R DOCUMENT WITH REBED HEREIN IS SUBJE	SPECT T	O WHICH THIS
INSR LTR	TYPE OF INSURANCE	ADDL S	SUBR	POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	POLICY EXP		LIMITS	
Α	X COMMERCIAL GENERAL LIABILITY						1	EACH OCCURRENCE	s	1,000,000
	CLAIMS-MADE X OCCUR			ENP0553215		10/1/2021	10/1/2022	DAMAGE TO RENTED PREMISES (Ea occurrence) S	100,000
						330, 337 1383 1789		MED EXP (Any one person		10,000
								PERSONAL & ADV INJURY		1,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER:							GENERAL AGGREGATE	s	2,000,000
	POLICY X PRO- X LOC							PRODUCTS - COMP/OP A		2,000,000
	OTHER:							EMPLOYEE BENEF		3,000,000
Α	AUTOMOBILE LIABILITY							COMBINED SINGLE LIMIT (Ea accident)		1,000,000
	X ANY AUTO			ENP0553215		10/1/2021	10/1/2022	BODILY INJURY (Per person		
	OWNED SCHEDULED AUTOS ONLY AUTOS						. 5/ // 2022	BODILY INJURY (Per person		
	HIRED NON-OWNED AUTOS ONLY							PROPERTY DAMAGE (Per accident)	ent) S	2 2 176

10/1/2021

1/1/2021

10/1/2022

1/1/2022

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) RE: Bid #PWDA-220015-MS SW 62 Blvd. Resurfacing

ENP0553215

A-3CW-130418-03

CERTIFICATE HOLDER	CANCELLATION
City of Gainesville Procurement 200 E. University Avenue, Room #339	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
Gainesville, FL 32601	AUTHORIZED REPRESENTATIVE
	EinPalin

X

В

UMBRELLA LIAB

WORKERS COMPENSATION AND EMPLOYERS' LIABILITY

RETENTION \$

ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH)

If yes, describe under DESCRIPTION OF OPERATIONS below

EXCESS LIAB

OCCUR

CLAIMS-MADE

N N/A EACH OCCURRENCE

E.L. EACH ACCIDENT

E.L. DISEASE - EA EMPLOYEE

E.L. DISEASE - POLICY LIMIT

OTH-ER

AGGREGATE



Florida Department of Transportation

RON DESANTIS GOVERNOR 605 Suwannee Street Tallahassee, FL 32399-0450 KEVIN J. THIBAULT, P.E. SECRETARY

May 18, 2021

WHITEHURST, V. E. & SONS, INC. 20551 NE 75TH STREET WILLISTON, FLORIDA 32696

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2022. However, the new application is due 4/30/2022.

In accordance with S.337.14 (1) F.S. your next application <u>must be</u> filed within (4) months of the ending date of the applicant's audited annual financial statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: HTTPS://fdotwpl.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

FDOT APPROVED WORK CLASSES:

DRAINAGE, FLEXIBLE PAVING, GRADING, HOT PLANT-MIXED BITUM. COURSES, SIDEWALK

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Darlene Anderson, for

Alan Autry, Manager Contracts Administration Office

AA:cq

PROPOSED SUBCONTRACTORS FORM

Name of Bidder: V.E. Whitehurst & Sons, Inc.

This form is for all Subcontractors being utilized on t	his project.		
Name of Contractor: Mill-It Corporation			
Address: 9630 Discovery CT, Altamonte Springs	, FL 32714		
Scope of Work to be Performed: Milling			
	% of Total BID/RFP:		%
Name of Contractor: Jenkins Painting, Inc.		1000	
Address: 5551 NW 60th ST, Chielfand, FL 32626			
Scope of Work to be Performed: Striping		197	
Total \$ Value: \$ 117,059.75	% of Total BID/RFP:	5.4	%
Name of Contractor: Double B Southern, LLC			
Address: P.O. Box 37, Newberry, FL 32669			
Scope of Work to be Performed: Sodding			
Total \$ Value: \$ 13,084.50	% of Total BID/RFP:	0.6	%
Name of Contractor:Total Concrete Repair, Inc.			
Address: 4750 Cisco Drive, Jacksonville, FL 322	19		
Scope of Work to be Performed: Concrete		*	
Total \$ Value: \$352,021.43	% of Total BID/RFP:	16.3	_%
Name of Contractor: Safety Contractors, Inc.			
Address: 5307 Wacissa Ave., Jacksonville, FL 32	254		
Scope of Work to be Performed: Signage and Handr	ail		
Total \$ Value: \$ 118,815.80 %	% of Total BID/RFP:	5.5	_%

If additional space is required for your subcontractor listing, make copies of this form and submit with you bid package.

PROPOSED SUBCONTRACTORS FORM

Name of Bidder: ____ V.E. Whitehurst & Sons, Inc.

Name of Contractor: Bob's Barrica	des, Inc.	
	se, FL 33326	
	T Signage	
	% of Total BID/RFP: 0.3	
Name of Contractor:		
Address:		
Scope of Work to be Performed:		100 - 100
Total \$ Value: \$	% of Total BID/RFP:	%
Name of Contractor:		
Address:		
Scope of Work to be Performed:		
Total \$ Value: \$	% of Total BID/RFP:	%
Name of Contractor:		
Address:		
Scope of Work to be Performed:		
Total \$ Value: \$	% of Total BID/RFP:	%
Name of Contractor:		
Address:		
Scope of Work to be Performed:		
Total \$ Value: \$	% of Total BID/RFP:	%

If additional space is required for your subcontractor listing, make copies of this form and submit with you bid package.

RESPONSIBLE AGENT FORM

RESPONSIBLE AGENT: William J. Whitehurst
ADDRESS: 20551 NE 75th ST, Williston, FL 32696
PHONE NO.: _(352) 528-2101
FAX NO.: _(352) 528-3857
EMAIL ADDRESS:dwhitehurst@vewhitehurst.com
ALTERNATE RESPONSIBLE AGENT:Jackson W. Whitehurst
ADDRESS:20551 NE 75th ST, Williston, FL 32696
PHONE NO.:(352) 528-2101
FAX NO.:(352) 528-3857
EMAIL ADDRESS:dwhitehurst@vewhitehurst.com

PROJECT MANAGER AND SUPERINTENDENT OR OWNER'S EXPERIENCE

NAME AND TITLE	ROLE IN THIS PROJECT		YEARS EXPERIENCE	
William J. Whitehurst	President		TOTAL 48	WITH THIS FIRM 48
	RELEVANT PROJECTS			
PROJECT TITLE AND LOCATION (city and state) See attached sheet				YEAR COMPLETED
BRIEF DESCRIPTION (Brief scope, siz	e, costs, etc.) and SPECIFIC ROLE		Check if projec	ct completed with current firm
2. PROJECT TITLE AND LOCATION (city and state)				YEAR COMPLETED
BRIEF DESCRIPTION (Brief scope, size	e, costs, etc.) and SPECIFIC ROLE		Check if projec	et completed with current firm
3. PROJECT TITLE AND LOCATION	N (city and state)			YEAR COMPLETED
BRIEF DESCRIPTION (Brief scope, size	e, costs, etc.) and SPECIFIC ROLE		heck if projec	t completed with current firm
4. PROJECT TITLE AND LOCATION	N (city and state)			YEAR COMPLETED
BRIEF DESCRIPTION (Brief scope, size	e, costs, etc.) and SPECIFIC ROLE	ПС	heck if project	t completed with current firm
5. PROJECT TITLE AND LOCATION	<u>V</u> (city and state)		3	YEAR COMPLETED
BRIEF DESCRIPTION (Brief scope, size	, costs, etc.) and SPECIFIC ROLE		heck if project	completed with current firm
5. PROJECT TITLE AND LOCATION	<u>V</u> (city and state)		<u>Y</u>	EAR COMPLETED
BRIEF DESCRIPTION (Brief scope, size,	, costs, etc.) and SPECIFIC ROLE	□Cl	neck if project	completed with current firm

V.E. WHITEHURST & SONS, INC.

20551 NORTH EAST 75TH STREET WILLISTON, FLORIDA 32696 PHONE (352) 528-2101 FAX 528-3857

WILLIAM J. WHITEHURST PRESIDENT

JACK W. WHITEHURST VICE PRESIDENT DEVIN C. WHITEHURST TREASURER

J. CHRIS BURLESON SECRETARY

Project References and Recent Contracts V.E. Whitehurst & Sons, Inc. has performed:

Keystone Airpark – Rehabilitate Taxiway A & B. Improvements include milling, subgrade, base, asphalt paving, drainage, fueling station, striping, lighting and other incidentals. \$3,596,442.45. Contact: William Prange, P.E., (386) 898-2298. Date Completed: June 15, 2020.

Alachua County – NW 43rd ST Resurfacing – Project # 6365, Improvements include milling and resurfacing, base work, curb and gutters, sidewalk, traffic signals, highway signing, sidewalks and other incidental construction. \$4,964,913.21. Contact Tom Strom, P.E. (352) 548-1223. Date Completed: July 13, 2020.

Alachua County – NW 16th Ave – Project # 917-7902, Improvements include milling and resurfacing, signalization, highway signing, curb and gutters, sidewalk and other incidental construction. \$1,185,609.80. Contact James Link, P.E. (352) 548-1289. Date Completed: June 25, 2020.

FDOT 437339-1-52-01, Contract No. E5Z45, SR 500 (US 27) from Levy Co. Line to CR 326. 6.672 Miles, Marion County. Improvements include milling and resurfacing, base work, highway signing, and other incidental construction. \$6,177,973.72. Contact: Kevin Wagner, Project Administrator, 352-281-6857, Date Completed: January 30, 2020

Alachua County – Resource Recovery Park – Project # 6398, Improvements include milling and resurfacing, base work, highway signing, and other incidental construction. \$2,564,298.39. Contact James Link, P.E. (352) 548-1289. Date Completed: November 19, 2019.

Alachua County – SW 8th Ave Extension Phase 2 – Project # 6396, Improvements include milling and resurfacing, base work, curb and gutters, traffic signals, highway signing, sidewalks and other incidental construction. \$4,281,348.75. Contact Tom Strom, P.E. (352) 548-1223. Date Completed: July 16, 2019.

FDOT 436164-1-52-01, Contract No. T2680, US 441 from Alachua Co. Line to I-75. 9.651 Miles, Columbia County. Improvements include milling and resurfacing, base work, highway signing, and other incidental construction. \$4,259,756.04 Contact: Joe Lovelace, Project Administrator, 386-961-7214, Date Completed: January 14, 2019

FDOT 434323-1-52-01, Contract No. E2V65, SR 24(Archer Rd.) from SW 40th Blvd to SR 226. 4.212 Miles, Alachua County. Improvements include milling and resurfacing, base work, curb and gutters, traffic signals, highway signing, sidewalks and other incidental construction. \$3,723,121.82. Contact: Kevin Wagner, Project Administrator, 352-281-6857, Date Completed: June 7, 2018

FDOT 432314-1-52-01, Contract No. E2V68, SR 100 from CR 100A to West Orange Street. 2.545 Miles, Bradford County. Improvements include milling and resurfacing, curb and gutters, highway signing, guardrail, sidewalks and other incidental construction. Contact: Mabelle Westling, Project Administrator, 352-381-4211, Date Completed: February 09, 2018

FDOT 432311-1-52-01, Contract No. T2649, SR 200 (US 301) from Railroad Overpass to Bradford County Line. 3.431 Miles, Alachua County. Improvements include milling and resurfacing, base work, shoulder treatment, drainage improvements, curb and gutters, traffic signals, highway signing, guardrail, sidewalks and other incidental construction. Contact Cory Nichols, P.E., Date Completed: October 4, 2017

FDOT 434295-1-52-01, Contract No. T2644. SR 100 from East of SR 121 to Bradford County Line, 3.423 Miles, Union County, Improvements include milling and resurfacing, base work, shoulder treatment, drainage improvements, highway signing, bridges and other incidental construction. \$1,424,722.42. Contact: Mark Smith, Project Administrator, 386-961-7031. Date Completed: April 12, 2017.

Levy County – CR 326 (Shell Mound Rd) from CR 347 to dead end. Improvements include resurfacing, widening, drainage, striping and other incidental work. \$1,391,234.50. Contact: H. Lee Mills, P.E., 352-486-2872. Date Completed: March 31, 2017.

Suwannee County – 180th ST from CR 249 to SR 49. Improvements include resurfacing, widening, drainage, striping and other incidental work. \$1,181,243.30. Contact: Brenda Flanagan, Project Manager, 386-361-2132. Date Completed: March 13, 2017.

City of Gainesville - NW 8th Ave - Segment B, SC-1532-001, Improvements include resurfacing, striping and other incidental work. \$935,266.40. Contact: Derek Dykes, Project Manager, 352-745-7877. Date Completed September 23, 2016.

FDOT 432263-1-52-01, Contract No. E2T58, SR 121 from North of US 441 to Lacrosse, 9.694 Miles, Alachua County, Milling & resurfacing, base work, shoulder treatment, traffic signals (loop replacement), highway signing and other incidental construction. \$3,757,548.78. Contact: Lori E. Williams, P.E., Resident Engineer, 352-381-4201. Date Completed: September 8, 2016

FDOT 430513-1-52-01 and 432018-1-52-01, Contract No. T2584, SR 121 from NW 202nd Place to the CSX Crossing in Worthington Springs, 6.428 Miles, Alachua County. Improvements include milling and resurfacing, base work, shoulder treatment, drainage improvements, curb and gutter, lighting, highway signing, guardrail and sidewalk/bicycle paths. \$3,444,186.81. Contact: Lori E. Williams, P.E., Resident Engineer, 352-381-4201. Date Completed: August 5, 2016.

City of Newberry - Newberry Town Center CDBG Infrastructure Improvements. Improvements include milling and resurfacing, widening, drainage, striping, underground utilities and other incidental work. \$596,101.55. Contact Troy Hays, P.G. (352) 377-5821. Date Completed: May 19, 2016.

FDOT 432307-1-52-01, Contract No. E2T73, SR 121 from Worthington Springs to Lake Butler, 8.734 Miles, Union County. Improvements include milling and resurfacing, base work, shoulder treatment, drainage improvements, curb and gutter, highway signing, guardrail, sidewalks and other incidental construction. \$3,590,753.72. Contact: Doug Moseley, P.E., Construction Engineer, 386-961-7030. Date Completed: April 4, 2016.

University of Florida - UF Mowry Rd East - Improvements include milling and resurfacing, striping and other incidental work. \$265,705.00. Contact Tom Fillmer, Project Administrator. (352) 495-3851. Date Completed: February 29, 2016.

Bradford County - CR 231 Resurfacing. Improvements include resurfacing, shoulder work, striping and other incidental work. \$968,357.44. Contact Jerome Kelley, P.E. (352) 371-2741. Date Completed: February 24, 2016

Union County – CR 796A Resurfacing. Improvements include milling and resurfacing, drainage, striping and other incidental work. \$365,749.60. Contact Daniel Inkell, Project Administrator. (352) 377-5821. Date Completed: February 2, 2016.

Putnam County – Road Resurfacing Project 2015 Bid. No. 15-14 AREA II. Improvements include resurfacing, striping and other incidental work. \$342,757.16. Contact Felipe Rivera, P.E. (386) 329-0346. Date Completed: December 14, 2015

Union County – CR 231A Resurfacing. Improvements include milling and resurfacing, drainage, striping and other incidental work. \$519,156.00. Contact Daniel Inkell, Project Administrator. (352) 377-5821. Date Completed: November 9, 2015.

Bradford County - CR 221 Widening & Resurfacing. Improvements include milling and resurfacing, widening, drainage, striping and other incidental work. \$763,198.70. Contact Jerome Kelley, P.E. (352) 371-2741. Date Completed: October 30, 2015.

City of Williston – Williston Municipal Airport – Runway 14-23 Rehabilitation & Lighting, Taxiway F connector and Aircraft Parking Apron. Improvements include mill and resurface, pavement fabric installation, lighting, drainage, new apron base and asphalt surfacing, striping & other incidentals. \$2,516,181.55. Contact: Patrick Honore' P.E., 904-224-7079. Date Completed: September 4, 2015.

Gainesville Regional Airport – Runway 7/25 Rehabilitation. Improvements include milling and resurfacing, pavement fabric installation, pavement rejuvenation, runway grooving, striping, lighting and other incidentals. \$2,603,227.08. Contact: William Prange, P.E., (386) 898-2298. Date Completed: August 31, 2015.

FDOT 410213-1-72-89, Contract No. E2S70, Roadway repair at 5 locations, Alachua County. Improvements include milling and resurfacing, striping and signal loops. \$140,755.30. Contact: Tim Whitley, Project Administrator. 352-381-4329. Date Completed: August 28, 2015.

FDOT 420531-4-52-01, Contract No. T2535, SR 200 (US 301) from Container Road to 0.261 miles North, 0.261 Miles, Bradford County. Improvements include milling and resurfacing, base work, drainage improvements, curb and gutter, traffic signals, highway signing, sidewalks and other incidental construction on SR 200 (US 301). \$1,779,782.57. Contact: Kevin Rogers, Project Administrator,

352-381-4226. Date Completed: June 17, 2015.

University of Florida, Rabon Chiller Plant Resurfacing Project. WO #1502403, Repave rear portion of Rabon Plant drives and parking area. \$64,364.10. Contact: Jennifer Meisenhelder, P.E., Project Manager, 352-816-2085. Date Completed: June 15, 2015.

FDOT 430554-1-52-01, Contract T2552, SR 200 (US 301) from the Marion County Line to CR 325, 1.321 Miles, Alachua County. Improvements include milling and resurfacing, base work, shoulder treatment, drainage, highway signing, guardrail and other incidental construction on SR 200 (US 301). \$1,853,786.46. Contact: David Presson, P.E., Project Engineer. 850-377-1337.

Date Completed: May 28, 2015.

FDOT 430548-1-52-01, Contract E2S97, SR 24 from SR 55 (US 19) to Bronson City limits, 11.282 miles, Levy County. Milling and resurfacing, base work, shoulder treatment, curb and gutter, signing, guardrail, roadway reconstruction and other incidentals. \$3,803,835.85. Contact: Patrick Upshaw, P.E., 352-226-8447. Date Completed: April 8, 2015.

City of Gainesville, Project No. PWDA-140008-DS, SW 16th Avenue Roadway Modifications. Improvements include milling, resurfacing, concrete curb and gutter and sidewalk, drainage, major traffic signals, signs and other incidentals. \$1,912,881.69. Contact: Reid Rivers, Project Administrator, 352-393-1545. Completion Date: April 6, 2015.

Bradford County, NE 19th Avenue Resurfacing Project, 1.30 miles, Bradford County. Resurfacing, guardrail, traffic signs, striping and grassing. \$232,507.83. Contact: H. Jerome Kelley, P.E., 352-538-0741. Date Completed: March 2, 2015.

Gainesville Regional Airport, GACRAA Project No. 14-002, Terminal Entrance Loop Road, Gainesville, Florida, Improvements include rehabilitation of the existing terminal loop road pavement surface as well as signing, pavement marking, landscaping, hardscaping and miscellaneous electrical improvements. \$651,890.96. Contact: William R. Prange, P.E., Project Engineer. 386-898-2298. Date Completed: February 18, 2015.

FDOT 430550-1-52-01, Contract E2T05, SR 51 from the beginning curb and gutter in Mayo, FL to the Suwannee County line, 3.369 Miles, Lafayette County. Milling, resurfacing, shoulder treatment, drainage improvements, curb and gutter, signing, guardrail, sidewalk and other incidentals. \$1,656,116.65. Contact: Doug Moseley, P.E., 386-961-7030. Date Completed: January 19, 2015.

Gilchrist County, FPN 431630-1-58-01, Gilchrist County SE 90th Avenue from SE 110 Street north to SR 26 and from SR 26 north to SE 64th Street approximately 4.7 miles. Asphalt leveling and surface course, stabilization, limerock base, shoulder work, striping and other incidentals. \$646,803.14. Contact: H. Lee Mills, P.E., 352-486-2872. Date Completed: November 7, 2014.

Putnam County Project No. 14-15, Strickland Road from CR 20A to CR 315 approximately 1.62 miles. Resurfacing and striping. \$363,838.36. Contact: Felipe Rivera, Jr., P.E., 386-329-0346. Date Completed: September 15, 2014.

Putnam County Project No. 14-10, County Road 219 from SR 26 to the Clay County line approximately 2.675 Miles. Mill, resurface and striping. \$625,759.41. Contact: Felipe Rivera, Jr., P.E., 386-329-0346. Date Completed: July 3, 2014.

FDOT 209769-3-52-01, Contract E2N83, SR 49 (US 129) at CR 339, Gilchrist County. Mill, resurface, widening, base, drainage, signing, striping and other incidentals. \$457,114.09. Contact: Austin Woodingtin, M.E., 352-381-4212. Date Completed: 04-28-2014.

University of Florida Project No. 1497637, Museum Road, Museum Drive, Radio Road, and Stadium Road. Mill, resurface, repair base failure and striping. \$871,379.36. Contact: Jason Johns, 352-331-1976. Date Completed: 01-06-2014.

FDOT 428770-1-52-01, Contract T2465, CR 241A (CR 791) from SW 67th Street to CR 245 and from CR 245 to a point north of CR 245 on CR 791, Union County. Mill, resurface, base work, shoulder treatment, box culverts, drainage, signing, striping and other incidentals. \$1,043,967.15. Contact: Sandra Chitwood, 352-381-4213. Date Completed: 12/12/2013.

FDOT 427203-1-52-01, Contract T2456, SR 121 from MP 6.825 to MP 7.023, Alachua County. Mill, resurface, base, shoulder treatment, drainage, curb and gutter, guardrail, signing, striping and other incidentals. \$370,609.37. Contact: Austin Woodington, M.E., 352-381-4212. Date Completed: 11-14-2013.

FDOT 416220-1-52-01, Contract T5442, SR 326 at the intersection of CR 35, Marion County. Mill, resurface, turn lane construction, signalization, signing, striping and other incidentals. \$436,532.43. Contact: Jared Peltz, E.I., 352-620-3021. Date Completed: 08-30-2013.

FDOT 424482-1-52-01, Contract T2461, SR 230 from St. Clair Street to the Clay County Line, Bradford County. Mill, resurface, base work, shoulder treatment, drainage improvements, highway signing, guardrail, bridge rail retrofits and other incidental construction. \$1,390,027.97. Contact: Sandra Chitwood, 352-381-4213. Date Completed: 07-30-2013.

FDOT 426982-1-52-01, Contract T2460, SR 93 (I-75 Access Road) from SR 222 to the end of the roadway, Alachua County. Mill resurface, base, drainage, signing and other incidentals. \$202,871.00. Contact: Kevin Rogers, 352-381-4226. Date Completed: 06-24-2013.

Levy County Project No. 403730-1-58-01, CR 464 from SR 121 to US 41 (SR 45), Levy County. Asphalt leveling and surfacing, shoulder work, striping and other incidental items. \$834,560.00. Contact: H. Lee Mills, P.E., 352-486-2872. Date Completed: 04-30-2013.

FDOT 404518-6-94-12, Contract GACRAA # 12-004, Rehabilitate Internal Service Road, Alachua County. Demolition and construction of asphalt roadway pavement, pavement markings, signage, existing drainage pipe replacement and earthwork operations. \$395,803.42. Contact: William R. Prange, PE, 386-898-2298. Date Completed: 04-12-2013.

FDOT 424473-2-52-01, Contract E2Q79, SR 20 from SW 223 Street to the Putnam County Line, 1.587 Miles. Alachua County. Mill, resurface, base work, shoulder treatment, drainage improvements, highway signing and other incidental construction. \$583,777.27. Contact: Austin Woodington, 352-381-4212. Date Completed: 03-01-2013.

Marion County Project No. FY09/10-74,200-C, Bid No. 12B-150, CR 318 Overlay & Widening – Phase III from CR 335 to CR 329. Asphalt overlay, widening, resurfacing and reconstruction, drainage, guardrail and striping. \$2,937,604.00. Contact: H. E. Holland, P.E., 352-671-8686. Date Completed: 02-09-2013

FDOT 424495-1-52-01, Contract T2425, SR 500(Alt. US 27) from CR 241 to the curb and gutter section in Williston, FL, 4.371 miles. Levy County. Mill, resurface, base work, shoulder treatment, drainage improvements, traffic signals, highway signing, sidewalk and other incidental construction. \$2,855,723.79.

Contact: Kevin Rogers, 352-381-4226. Date Completed: 02-01-2013.

FDOT 423396-1-52-01, Contract T2420, SR 24 from the Levy County line to SR 45, 2.762 miles. Alachua County. Mill, resurface, base work, shoulder treatment, drainage improvements, highway signing, sidewalks and other incidentals. \$985,617.27. Contact: Kevin Rogers, 352-381-4226. Date Completed: 10-05-2012.

Project No. PWDA-120014-DS, City of Gainesville, NE 39th Avenue @ NE 2nd Street, Intersection realignment. \$190,461.57. Contact: Rick Melzer, P.E., 352-393-8407. Date Completed: 09-26-2012.

FDOT 424473-1-52-01, Contract T2390, SR 20 from 55th Blvd. to CR 325, 5.435 miles. Alachua County. Milling, resurfacing, base work, shoulder treatment, drainage improvements, curb & gutter, traffic signals, highway signing, guardrail and other incidentals. \$3,442,908.15. Contact: David Presson, P.E., 352-381-4200. Date Completed: 06-26-2012.

FDOT 423028-2-51-01, Contract E2Q25, SR 26 @ SR 200 (US 301) from MP 10.609 to MP 12.560, Alachua County. Mill, resurface, base work, shoulder treatment, drainage improvements, highway signing, guardrail and other incidentals. \$978,374.98. Contact: Joaquin Olivella, P.E., 352-381-4214. Date Completed: 05-23-2012.

FDOT 207614-4-58-01, Contract GACRAA # 11-001, Airport Access Road – Phase I. Alachua County. Subgrade, base, asphalt paving, drainage, landscaping and other incidentals. \$603,468.11. Contact: Harmon Bennett, P.E., 813-376-2116. Date Completed: 05-11-2012.

FDOT 424632-1-52-01, Contract T2403, SR 93 (I-75 Frontage Road) from US 441 to 1.5 miles north, 1.540 miles. Alachua County. Mill and resurface, base work, shoulder treatment, drainage improvements, signing, guardrail and other incidentals. \$1,159,374.74. Contact: Joaquin Olivella, P.E., 352-381-4214. Date Completed: 03-13-2012.

Alachua County Project No. 6361, CR 325 from SE CR 346 to US 301. Mill, resurface, widening, drainage improvements, guardrail and other incidentals. \$3,868,531.84. Contact: Brian Singleton, E.I., 352-548-1306. Date Completed: 10-24-2011.

FDOT 210432-4-52-01, Contract T2361, SR (US41) at CR326. 0.472 miles. Levy County. Mill, resurface and roadway widening. \$381,097.82. Contact: David Presson, E.I., 352-381-4219. Date Completed: 07-06-2011.

FDOT 419584-1-52-01, Contract T 5358, SR 45 (US 41) from SW 108th Place to a point north of SR 40, 3.407 miles. Marion County. Mill, resurface, new paved shoulders and roadway widening. \$1,521,591.70 Contact: Ronda Daniel, 352-732-1322. Date Completed: 04-12-2011.

Levy County Project No. 424180-1-58-01, Levy County Road No. 207, from CR 341 to SR 55 (US 19) 7.3 miles long. Roadway widening, resurfacing and drainage. \$1,318,582.28 Contact: Lee Mills, P.E 352-486-2872. Date Completed: 03-31-2011.

FDOT 207700-2-52-01, Contract E 2N02, SR120 NW 23rd Ave. from US 441 to SR 24, 2.508 miles long, Alachua County. Mill and resurface, drainage improvements, curb and gutter, sidewalk, traffic signals and signs. \$1,648,348.37 Contact: David Presson, E.I., 352-381-4219. Date Completed: 01-16-2011.

City of Dunnellon, Florida Roadway improvements to McKinney Ave. and Illinois Avenue. Mill, resurface, drainage, and roadway widening. \$ 187,426.13 Contact: Rachel Haeseler, PE 352-377-5821.

Date Completed: 11-23-2010

Alachua County Project No. 6335, SW 122 Street (Parker Road). Widening and resurfacing. \$1,239525.32 Contact: Brian Singleton E.I., 352-548-1306. Date Completed: 11-10-2010.

University of Florida. Tanglewood Village Parking Lot Improvements. Asphalt resurfacing. \$ 147,120.00 Contact: Dan Sostrom, PE 352-375-8999. Date Completed: 11-10-2010.

KCCS Cross Slope Corrections, SR 121 and SR 24, Levy County and SR 45 (US 41) Alachua County. Asphalt Paving to correct super elevations in curves. \$891,877.03 Contact: John Doke 352-258-1564 Date Completed: 10-05-2010.

FDOT 212418-3-52-01, Contract T2324, CR 323 at CR 316 Intersection, Levy County. \$260,368.74 Resurfacing, roadway widening and shoulders, and drainage. Contact: Kevin Rogers 352-381-4226 Date Completed: 06-15-2010.

FDOT 426397-1-52-07, Contract E2N65, Design Build of SR 320 from US 19 to Manatee Springs entrance. Paved shoulders and drainage. \$1,388,377.30 Contact: Jamal A. Hassouneh, PE 407-829-7818. Date Completed: 06-21-2010.

FDOT 207956-6-52-01, Contract T 2291, SR100 from Clay County line to CR 100A, 10.678 miles. Mill and resurface, roadway widening, drainage improvements. \$ 3,869,600.63. Contact: David Presson, E.I., 352-281-4219. Date Completed: 07-14-2010.



Apprentice and Disadvantaged Worker Requirement Form for Construction Projects (Submit with bid)

☑ Construction project exceeding \$300,000
☐ Electrical work exceeding \$75,000
If one or more of the boxes are checked above you must provide the information required below
a.) Total estimated construction project labor hours 50,000
b.) Total estimated apprenticeship hours 5,000
c.) Identification of apprenticeship program _FDOE Apprenticeship Program
d.) Agency or entity who is responsible for overseeing the apprenticeship program.
Florida Department of Education
e.) Description of type of labor and estimated labor hours to be performed by apprentices: Work associated with the paving and widening of the road
f.) Total estimated disadvantaged worker hours5,000
g.) Description of type of labor and estimated labor hours to be performed by disadvantaged workers: Work associated with the paving and widening of the road
h) A list of resources that will be used to recruit disadvantaged workers:
-Local outreach events
-Advertise in local community publications
-Recruit through workforce development organizations
-Register job openings with social service organizations

ADDENDUM NO. 1



Date:

September 21, 2021

Bid Date: October 4, 2021

at 3:00 P.M. (Local Time)

Bid Name SW 62nd Blvd Connector Resurfacing

Bid No.: PWDA-220015-MS

NOTE: This Addendum has been issued only to the holders of record of the specifications

> The original Specifications remain in full force and effect except as revised by the following changes which shall take precedence over anything to the contrary:

Any questions shall be submitted in writing to the City of Gainesville Purchasing Division by 3:00 p.m. 1. (local time), September 27, 2021. Questions may be submitted as follows:

Email:

holderds@cityofgainesville.org sowersma@cityofgainesville.org

- 2 Please find attached:
 - a) Copy of the cone of silence information (Financial Procedures Manual Section 41-424 Prohibition of lobbying in procurement matters)
 - b) Apprentice and Disadvantaged Worker Requirement Form for Construction Projects
 - c) Copy of Apprentice-Disadvantage Worker Ordinance #200586
 - d) Copy of the Pre-Bid sign-in sheet for your information
- 3. Diane Holder, Procurement Division, discussed bid requirements.
 - a. Sign-in Sheet is circulating. Failure to sign will result in bid not being accepted.
 - i. Submitted bid to match business name as signed in at pre-bid.
 - b. Bids are to be received by the Purchasing office no later than 3:00 p.m. on October 4, 2021. Any bids received after 3:00 p.m. on that date will not be accepted.
 - c. Send questions in writing to x via email or fax.
 - i. All communication through Diane Holder or Melanie Sowers only. Do not communicate with other City staff.
 - d. Discussed bid due date, time and delivery location.
 - i. Deliver (or have delivered) to Purchasing by 3:00 p.m. on October 4, 2021
 - e. Discussed Living Wage, Local Preference
 - f. Discussed new ordinance for Apprentice and Disadvantaged works. Distributed a copy of Ordinance No. 200586. A form will be included in an addendum. This form must be submitted with your bid.
 - g. Various forms (i.e. Bidder Verification Form Customer History, Proposed Subcontractors form) are to be completed and returned with your bid.
 - i. Sign, date and return all Addenda.

4. Question: Wanted to see if there is a budget or estimate available on this?

Answer: No. The City is looking for the bidders to submit their best price.

5. Question: Is a Bid Bond required?

Answer: No.

6. John Veilleux Public Works, discussed project details

1. Scope;

- a. Milling & resurfacing from just north of 20TH AVE to just south of Newberry Rd; Also includes six (6) foot paved shoulders on both sides from southern limit to Hampton Oaks apartments just south of the southern mall driveway; sidewalk connections for bus stops and mid-block crosswalks; minor drainage work; three (3) midblock crosswalks w RRFB's; nine (9) RTS boarding & alighting areas; signing & marking, and some utility adjustments.
- b. Project Team includes City staff along with HNTB as the Engineer of Record and DRMP is the CEI on the project.

2. Minimum Qualifications:

- a. See ITB Part 1- Responsible: Contractor must be "FDOT Prequalified" and have "5 years' similar work experience".
- b. ITB Part 3-Responsiveness: See "How to Submit a bid". In addition, there is a new Apprentice and Disadvantaged Worker requirement as per City Ordinance 200586, Article 11, Chapter 2; the requirement is that 10% of Labor hours shall be provided by APPRENTICES and another 10% of labor hours to DISADVANTAGE WORKERS; To be responsive the bid must include a (1) Description of the estimated hours for each and a description of the type of labor, and (2) List of resources that will be used to recruit these types of workers.

3. Contract:

- a. This is a unit price contract: The pay items are specified in the bid form for the Agreement, including a Base bid and Alternates #1 and #2.
- b. It's important to note that the plans are modified as follows:
 - i. Crosswalks 1 and 2 have been moved from the Base Bid to Alternate #2.
- c. It's also very important to note that the Construction Agreement and the Technical Specifications supersede the plans and FDOT standard specifications; See paragraph 9 of the Agreement for the Governing Order of documents.
- d. See pay item notes in technical specifications and throughout plan sheets.
- e. The project duration is <u>80 working</u> days to Substantial Completion plus <u>30 calendar</u> days to Final Completion.
- 4. Modifications to FDOT Standard Specifications (Technical Specifications):
 - a. Paragraph 02: See applicable standards and specification noted in these Technical Specifications
 - b. Paragraph 03:
 - i. Section 8 Prosecution and Progress:
 - 1. Partial pay for Stockpile materials will be allowed.
 - 2. Liquidated damage provisions apply.

- 3. Apprentice and Disadvantage Worker documentation will be required with each pay application.
- ii. Section 9 Measurement & Payment:
 - 1. Bituminous adjustment is applicable; no fuel adjustment will apply.
- iii. Section 102 MOT:
 - 1. Contractor is to develop and implement a traffic control plan for the project; See Traffic Control Plan notes and details on plan sheets 55 and 56, as well as the requirements in these Technical Specifications.
 - 2. Work times are described as follows: Night work: 7am to 7 pm; Day work may be requested in 1 week blocks only but no day time closures. See other night and day work requirements and coordination with other entities.
 - 3. Close coordination of work minimizing impacts to RTS is required to maintain pedestrian and bus service during the work. Also, coordination with the Oaks Mall is required as per the traffic control notes and specifications.
- iv. Section 110 Clearing & Grubbing:
 - 1. Trimming requirements and standards apply
- v. Section 120 Excavation and Embankment:
 - 1. Earthwork is LS with the exception of borrow if required. See Basis of Payment in these technical specifications for details.
- vi. Section 334 LAP Asphalt:
 - 1. See modifications to FDOT LAP specifications, including no Composite pay factor.
- vii. Section 337 Friction Course Asphalt:
 - 1. No Composite pay factor.
 - 2. Material transfer vehicle is required for final surfaces.
- viii. Section 344 LAP Concrete:
 - 1. See modifications to FDOT LAP specifications.
- ix. Section 522 Concrete Sidewalk/Driveways:
 - 1. Target slopes should be 1.5%; Cross slopes over 2% will be rejected.
 - 2. See 6" concrete requirements, ie WWM or PP fiber mesh.
- x. Section 527 Detectable warnings:
 - 1. Brick shall be red brick; See City detail on special plan sheet 37.
- xi. Section 570 Performance Turf:
 - 1. Hydroseed is acceptable in lieu of sod or seed.
 - 2. Sod must include certification it's free of noxious weeds, or will be rejected
- xii. Section 700 Signs:
 - 1. City sign post requirements will apply
- c. Paragraph 04 City layout or survey requirements will apply.
- d. Paragraph 05 City As-built requirements will apply.
- e. Paragraph 06 The Rectangular Rapid Flashing Beacons shall be Carmanah Model SC315 (Solar) compatible with City TMC is required.
- f. Paragraph 07 Utility Work Schedules are included in these Technical Specifications.

The following are answers/clarifications to questions received at the mandatory pre-bid conference:

5. Question: Does the time period include alternates?

Answer: Yes.

6. Question: Does the traffic control plan (MOT) have to be signed/sealed?

Answer: No, see Section 102 Technical Specifications for MOT plan.

7. Question: Are there as-builts for the whole job?

Answer: Yes, See Paragraph 05 Technical Specifications.

8. Question: Milling-Was the rutting considered?

Answer: See, plan Typical Sections. Milling into the base in some areas may be required.

9. Question: Are you allowed to drive on the milled surface?

Answer: No, see Section 102 Technical Specifications.

10. Question: There is 2" asphalt and 1" limerock?

Answer: Yes, roughly.

11. Question: Is there a designated laydown area?

Answer: No.

ACKNOWLEDGMENT: Each Proposer shall acknowledge receipt of this Addendum No. 1 by his or her signature below, and a copy of this Addendum to be returned with proposal.

CERTIFICATION BY PROPOSER

The undersigned acknowledges receipt of this Addendum No. 1 and the Proposal submitted is in accordance with information, instructions, and stipulations set forth herein.

PROPOSER:

V.E. Whitehurst & Sons, Inc.

BY:

10-4-2021

DATE:

ADDENDUM NO. 2



Date:

September 28, 2021

Bid Date: October 4, 2021

at 3:00 P.M. (Local Time)

Bid Name SW 62nd Blvd Connector Resurfacing

Bid No.: PWDA-220015-MS

NOTE: This Addendum has been issued only to the holders of record of the specifications

> The original Specifications remain in full force and effect except as revised by the following changes which shall take precedence over anything to the contrary:

1. Please find attached:

a) Copy of the cone of silence information (Financial Procedures Manual Section 41-424 Prohibition of lobbying in procurement matters)

b) Construction Apprentice Ordinance Presentation

The following are answers/clarifications to questions received at the after the mandatory pre-bid conference:

2. Question: Regarding Addendum # 1 - ITB Part 3-Responsiveness: Apprentice and Disadvantaged Worker requirement as per City Ordinance 200586, Article 11, Chapter 2

> To clarify, is the city looking for a pre-bid Good Faith Effort to solicit employment for apprentice & disadvantaged workers or is the city looking for the steps we will take to employ apprentice & disadvantaged workers (10% of total labor hours) if we are awarded the project? See the Construction Apprentice Ordinance Presentation attached to this addendum.

- a. Please note in the Ordinance, page 5, Section 2-631, c. and d. there, both paragraphs start by stating "When responding to a solicitation..." These sections describe the requirements that are expected to be addressed in your submittal to the solicitation.
- b. A form (required) has been provided for you to complete that will help you respond to those submittal requirements, and help you meet the first part of the ordinance.
- c. Then there is a lengthy discussion in the ordinance that describes the expectations after award - recruitment, reporting and compliance, etc. The City expects that Contractors will thoroughly understand and comply with the Ordinance.

Also – to be clear - the requirements of the ordinance are NOT indicating a combined total (apprentice and disadvantaged workers) of labor hours is 10% - but rather 10% of the labor hours must be performed by apprentices <u>and</u> 10% of the labor hours must be performed disadvantaged workers (cumulatively 20%) – unless a worker falls into both categories, then that worker can be counted in both categories.

ACKNOWLEDGMENT: Each Proposer shall acknowledge receipt of this Addendum No. 2 by his or her signature below, and a copy of this Addendum to be returned with proposal.

CERTIFICATION BY PROPOSER

The undersigned acknowledges receipt of this Addendum No. 2 and the Proposal submitted is in accordance with information, instructions, and stipulations set forth herein.

PROPOSER:	V.E. Whitehurst & Sons, Inc.	
BY:	(cielesticalie)	
DATE:	10-4-2021	